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Note that represents the number of ways a sample of size n can be selected from a 

population of size N; represents the number of ways that x successes can be selected 

from a total of r successes in the population; and represents the number of ways 

that n � x failures can be selected from a total of N � r failures in the population.
To illustrate the computations involved in using equation (5.12), let us consider the

following quality control application. Electric fuses produced by Ontario Electric are pack-
aged in boxes of 12 units each. Suppose an inspector randomly selects 3 of the 12 fuses
in a box for testing. If the box contains exactly 5 defective fuses, what is the probability
that the inspector will find exactly 1 of the 3 fuses defective? In this application, n � 3
and N � 12. With r � 5 defective fuses in the box the probability of finding x � 1 defec-
tive fuse is

Now suppose that we wanted to know the probability of finding at least 1 defective
fuse. The easiest way to answer this question is to first compute the probability that the in-
spector does not find any defective fuses. The probability of x � 0 is

With a probability of zero defective fuses f (0) � .1591, we conclude that the probability of
finding at least 1 defective fuse must be 1 � .1591 � .8409. Thus, there is a reasonably high
probability that the inspector will find at least 1 defective fuse.
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假定我們想知道至少有 1 個瑕疵品的機率。最簡單的方式是先算出沒有瑕疵品

的機率，x＝0 的機率是

 

Note that represents the number of ways a sample of size n can be selected from a 

population of size N; represents the number of ways that x successes can be selected 

from a total of r successes in the population; and represents the number of ways 

that n � x failures can be selected from a total of N � r failures in the population.
To illustrate the computations involved in using equation (5.12), let us consider the

following quality control application. Electric fuses produced by Ontario Electric are pack-
aged in boxes of 12 units each. Suppose an inspector randomly selects 3 of the 12 fuses
in a box for testing. If the box contains exactly 5 defective fuses, what is the probability
that the inspector will find exactly 1 of the 3 fuses defective? In this application, n � 3
and N � 12. With r � 5 defective fuses in the box the probability of finding x � 1 defec-
tive fuse is

Now suppose that we wanted to know the probability of finding at least 1 defective
fuse. The easiest way to answer this question is to first compute the probability that the in-
spector does not find any defective fuses. The probability of x � 0 is

With a probability of zero defective fuses f (0) � .1591, we conclude that the probability of
finding at least 1 defective fuse must be 1 � .1591 � .8409. Thus, there is a reasonably high
probability that the inspector will find at least 1 defective fuse.
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已知沒有瑕疵品的機率 f (0)＝0.1591，可以求出至少有 1 個瑕疵品的機率是 1－

0.1591＝0.8409。因此，至少發現 1 個瑕疵品的機率很高。

超幾何分配的平均數及變異數的公式如下：

 

Exercises

Methods
46. Suppose N � 10 and r � 3. Compute the hypergeometric probabilities for the following

values of n and x.
a. n � 4, x � 1.
b. n � 2, x � 2.
c. n � 2, x � 0.
d. n � 4, x � 2.

47. Suppose N � 15 and r � 4. What is the probability of x � 3 for n � 10?

Applications
48. According to Beverage Digest, Coke Classic and Pepsi ranked number one and number

two in sales (The Wall Street Journal Almanac, 1998). Assume that in a group of 10 indi-
viduals, six preferred Coke Classic and four preferred Pepsi. A random sample of three of
these individuals is selected.
a. What is the probability that exactly two preferred Coke Classic?
b. What is the probability that the majority (either two or three) preferred Pepsi?
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The mean and variance of a hypergeometric distribution are as follows.

(5.13)

(5.14)

In the preceding example n � 3, r � 5, and N � 12. Thus, the mean and variance for the
number of defective fuses is

The standard deviation is σ � � .77.�.60
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NOTES AND COMMENTS

Consider a hypergeometric distribution with n tri-
als. Let p � (r/N ) denote the probability of a suc-
cess on the first trial. If the population size is large,
the term (N � n)/(N � 1) in equation (5.14) ap-
proaches 1. As a result, the expected value and
variance can be written E(x) � np and Var(x) �

np(1 � p). Note that these expressions are used for
expected value and variance of a binomial distribu-
tion, as in equations (5.9) and (5.10). When the
population size is large, a hypergeometric distribu-
tion can be approximated by a binomial distribution
with n trials and a probability of success p � (r/N ).
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ASW_SBE_9e_Ch_05.qxd  10/31/03  2:13 PM  Page 214

 (5.14)

保險絲的例子中 n＝3, r＝5 且 N＝12，所以，瑕疵品的平均數及變異數是：
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標準差是 σ＝√0.60＝0.77。

評  註

以 n 個試驗的超幾何分配而言，令 p＝(r/N) 表示第一次試驗的成功機率。如果母體很大，式 (5.14) 

中的 (N－n)/(N－1) 會接近 1，故期望值與變異數可以寫成 E(x)＝np 及 Var(x)＝np(1－p)。這也是二項分

配的期望值與變異數公式（見式 (5.9) 與式 (5.10)）。總之，在母體很大時，可以用 n 次試驗、每次成功

機率 p＝(r/N) 的二項分配來求得超幾何分配的近似值。

　習　題

方法

46. 假設 N＝10 及 r＝3，計算如下超幾何分配的機率值。

a. n＝4, x＝1。

b. n＝2, x＝2。

testSELF
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c. n＝2, x＝0。

d. n＝4, x＝2。

47. 假設 N＝15 及 r＝4，求 n＝10 時，x＝3 的機率為何？

應用

48. 蓋洛普機構進行調查，詢問受訪者：「你最喜歡看什麼運動？」美式足球及籃

球分居一、二名 (www.gallup.com, January 3, 2004)。假定一個 10 人小組裡，有 

7 人最喜歡看美式足球，有 3 人最喜歡看籃球。由其中隨機選出 3 人。

a. 恰有 2 人最喜歡看美式足球的機率為何？ 

b. 樣本中多數人 (2 人或 3 人) 最喜歡看美式足球的機率為何？

49. 在賭城拉斯維加斯，21 點是相當受歡迎的賭局。賭客會拿到兩張牌，人頭牌 

( jack, queen 及 king) 及 10 皆計為 10 點，ace 可計為 1 點或 11 點；52 張牌中有 

16 張牌可計為 10 點 ( jack, queen, king 及 ten)，並且 有 4 張 ace。

a. 請問賭客拿到的兩張牌是 ace 或 10 點牌的機率為何？

b. 請問賭客拿到的兩張牌皆為 ace 的機率為何？

c. 請問賭客拿到的兩張牌皆為 10 點的機率為何？

d. 21 點就是拿到一張 10 點的牌及一張 ace。利用 (a)、(b) 及 (c) 的答案計算一

賭客得到 21 點的機率。[提示：(d) 並不是超幾何問題。請思考超幾何分配的

邏輯，然後利用 (a)、(b) 及 (c) 的結果回答此問題]。

50. Axline 電腦製造公司有兩座工廠，一在德州，一在夏威夷。德州廠有 40 位員

工，而夏威夷廠有 20 位員工。從這兩工廠隨機抽出 10 位員工。

a. 沒有人是來自夏威夷廠的機率為何？

b. 有 1 位是來自夏威夷廠的機率為何？

c. 有 2 位 (含) 以上是來自夏威夷廠的機率為何？

d. 有 9 位是來自德州廠的機率為何？

51. 2003 Zagat Resaurant Survey 針對美國境內的頂級餐廳提供了食物、裝潢及服務

的評比。波士頓名列前茅的 15 家餐廳的晚餐平均價格 (含飲料及小費在內) 是

$48.60。你計劃前往波士頓，並在 15 家餐廳中的 3 家用晚餐。公司補貼的晚餐

費用上限是每餐 $50。熟悉這些餐廳的助理告訴你，其中有三分之一的餐廳的

晚餐價格超過 $50。假定你隨機挑選 3 家用餐。 

a. 沒有任一家餐廳的價格超過公司補貼上限的機率為何？ 

b. 有一家餐廳的價格超過公司補貼上限的機率為何？ 

c.  有二家餐廳的價格超過公司補貼上限的機率為何？ 

d. 三家餐廳的價格都超過公司補貼上限的機率為何？

52. 一批貨共有 10 件商品，其中有 2 件是不良品，8 件是良品。現在從此批貨品中

隨機抽出部分樣本進行檢驗，若發現 1 件不良品，則整批退貨。

a. 若隨機抽出 3 件當作樣本，請問退貨的機率為何？

b. 若隨機抽出 4 件當作樣本，請問退貨的機率為何？
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c. 若隨機抽出 5 件當作樣本，請問退貨的機率為何？

d. 若一批貨品有 2 件是不良品，而 8 件是良品時，管理者希望拒收此批貨品的

機率為 0.90，此時你建議應該抽幾件做樣本？

　本章摘要

隨機變數是實驗結果的數值描述，而隨機變數的機率分配是用來描述隨機變數

的可能值及其對應的機率。對於任何離散隨機變數 x，我們以機率函數來定義其機

率分配，記作 f (x)，此函數提供各隨機變數值的對應機率。一旦定義出機率函數，

我們就可以計算該隨機變數的期望值、變異數與標準差。

二項分配可以用來計算 n 次試驗中 x 次成功的機率。所謂二項實驗必須符合下

列四個特性：

1. 有 n 個相同的試驗。

2. 每一試驗有兩種可能的實驗結果，一為成功，一為失敗。

3. 每一試驗成功的機率皆為 p，失敗的機率皆為 1－p。

4. 每一試驗皆獨立。

只要符合上述 4 個條件，就可以利用二項機率函數或二項機率表得到 n 次試驗中 x 

次成功的機率值。本章也介紹了二項機率分配的期望值與變異數的公式。

卜瓦松分配則是用來計算某一時間區間 (或空間區間) 中，特定事件發生 x 次的

機率。應用卜瓦松分配時，下列兩個假設條件必須成立：

1. 任何相同長度的區間，特定事件發生的機率皆相同。

2. 任何區間中，事件發生或不發生與其他區間中的事件發生與否彼此獨立。

我們在 5.6 節介紹了第三種離散機率分配──超幾何機率分配。與二項機率分

配相同的是，這個分配用來計算 n 次試驗中成功 x 次的機率。但與二項機率分配不

同的是，每一次試驗的成功機率會隨著試驗而改變。

　專有名詞

隨機變數：實驗結果的數值化描述。

離散隨機變數：一隨機變數，其值為有限個，或為無限數列。

連續隨機變數：一隨機變數，其值可為某一區間或若干個區間中的任何值。

機率分配：描述各隨機變數值出現的機率及其分布情況。

機率函數：為一函數，記作 f (x)，可提供任何離散隨機變數值所對應的機率 x。

離散型均勻機率分配：一種機率分配的形式，隨機變數的任一可能值所對應的機率

都相等。

期望值：用來衡量隨機變數的中央位置。

變異數：用來衡量隨機變數的分散程度或變異性。

標準差：變異數的正平方根。
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